Efficiency vs P,

0.1

0.0

% SRR S R —
L S e e
O IR oo e
0.06F- e e e
0.05E ' :
0.04f
0.03F
0.02F

VS

0.95

- -
o +
ok AT T
1----- PR Y i e T A 10 SRR D U0 U U
E- 1 JEN ERRE il B N bl il o & R
E 4

0.9

=

o
iN

=

10 10? 10°

—=— DQM_TT__mkFit-DQM_original
—e— DQM_TT__mkFit-DQM_modified3

I :
T T A

T e ST e

0.07F -+ +rve bbb

Q.06+ rovveediresensbonsnes oo

R O O o oo e

0.04F |k} -it-- S

0.03F-{1-|4 ;A Lo

0.021 |- AR G

0.01;— Rl T g

S O N U SN O W O

0.955), . 5 ; L 4

Efficiency vs ¢

0.05




	Contents
	Page 1


